0000 1+5+5+4+5+--- 0000
00 00 (0000000 ooooo)t

§0 [

D00 10000000000000.0000000000 1,44 2% . 0oooooooo,oooo
nooooooooo +i+i+l4l4 . DoDODDOODOO. DDDOOOOOOOOODOOOOOO
00000000000, 00000000000,000000000000000000000. 00000
00000000000,00000000000000000000.000000000000000,00
0000000000000000000. 00000000000000000000000000 ?000,

oboo,000b0000000ob0obobocoo0obooog.

§1 0OUOOOOOOO Euler OO

11 ooood f Ll opoooooooooooooo,o0o00000000.000000
00000000,n—0000 1 000, liml—-000000.000000 a1, ag, a3, - O {an}
000,0000000.2000 ¢, 00 n000000. 0000 n000000000000 a, 0000
00000000000000,00 {a,} 0 «00000000,n—00000 a, —a00, lima,=a
00000.00,a0 {a,} 000000000. n000000000000 @, 000000000000,
00 {a,} 00000000000000,n—00000 a, — 40000, lima, =+co 00000,
D000000 a+astastastas+ - D000000000. 0000 1+§+3+3+4+--- 000000
0.0000000 00000 Sp=ai+as+---+a, 0000000,000000000000 {S,} 000
00000000.00000 {S,}0 «0000000,00000 « 000000000, aj+as+as+---=a
00000.00000 {S,} 0000000000000, 000000000000000000000
000000000000 l4r?+- (r£+1) 00,0000 Sy=l+r+r2+--- =122 0000
O.|rl<1000,n—00000 " —0000,8, =4~ noooo.ooooo0 - 000
0O00. |rf|>1000,n—o0o000 v 000000000000000000000000000000O
000D000000000,00000000000.

1.2 00, S,=l+§+3+---+4£ 0000000000000.0000000000000,000 8,00
00000000,000000000000000.00000000000000000000000000
0000,0000000000000000000.00000000000000000000,00000
000000000000000000000000,000000000000.

0D00000000,000000000000000,0000000000. 3>4, 18101510
0000000000,000 2000000000000000000.
Si1=1=3
i | 1

Si=1+s+s+3>1+5+t+i=1+5+3=
D00 S»->"42000,7r—0c0000 Spr — +00 00. Sy =Su_1+5>S,-1 000,00000 {S,} 00
D00 (000000000000)00. 2>27 000 5,>5->"32000,0000000000 {S,} O

gbooooobooo,booocobobooooobooon.

— DO

1.3 000000000000000000000000. 000000 {5,}000 »00000000
000000000000000000,00,000000000000000.0000000000000
0 $,>8->"F2 (n>27) 0000, r=8 000000, n>2%=256 0000 5,>5»>%2=500. 0000
$p:=6.12434 000 n>2° 0000 §,>61243400000. 000 §,>2 (n>27) 0 $, 00000000
oooooo0ooooo,s,0000000,S8,00000000000000000.000 8,00000
000D000,000000000.(0000000000000,00000000.00000000000
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0000ooooooooooo.)

n Sn n Sn n Sn n Sh n Sh n Sh
1 10 | 2.92896 100 | 5.18737 1000 | 7.48547 10000 9.7876 || 10! 2.9289
1.5 20 | 3.59773 200 | 5.87803 2000 | 8.17836 20000 | 10.4807 || 10? 5.1873

1.83333 30 | 3.99498 300 | 6.28266 3000 | 8.58374 30000 | 10.8861 || 10? 7.4854
2.08333 40 | 4.27854 400 | 6.56992 4000 | 8.87139 40000 | 11.1738 || 10* 9.7876
2.28333 50 | 4.49920 500 | 6.79282 5000 | 9.09450 50000 | 11.3970 || 10° | 12.0901
2.45 60 | 4.67987 600 | 6.97497 6000 | 9.27681 60000 | 11.5793 || 10° | 14.3927
2.59285 70 | 4.83283 700 | 7.12901 7000 | 9.43095 70000 | 11.7334 || 107 | 16.6953
2.71785 80 | 4.96547 800 | 7.26245 8000 | 9.56447 80000 | 11.8670 || 10% | 18.9978
2.82896 90 | 5.08257 900 | 7.38016 9000 | 9.68225 90000 | 11.9847 || 10° | ———
2.92896 || 100 | 5.18737 || 1000 | 7.48547 || 10000 | 9.78760 || 100000 | 12.0901 || 10*°| ——

000 S, 000000000000000,100 (1000000000 18.997800. 000000000
gb,b00000000000b00O0O00DbO0b00O0DO0DbOoOn.

[00] 0DOOS,0 10000000000000 n00000D0OO0O0ODOOO?
ooo sS,0 1wocooooooooooooonooboobooooooo?
ooOo s,01o0000000D0O000DOO0 nOOOOODOOOODO?

O © 0O UL Wi+

—_

14 000 S,0000000000000000,000000000.0000000000000000
000,0000000000000,00000000000000000. 0000 %D,DD 100 %D
0000000000, 2-000 2=k00 2=k+1 00000000000,y 00000000000000
DO00.00001, 3,4, 000000000000000,2=1002=nr+100000000 (4
DO00)000000.00000000,00000000 S,=1+3+3+-+10000. 000 =400
0000000.0000000000000000 (k,%)DD[I,x:lDEI z=n+1 00000000000
000000000,000 y=1,00 2=1,2=n+1,0 ¢-00000000 (BOOD)0000000 AD

oooooo,00 A0OOO (S,) 000 BOOOOOOOO.OOOOOOOOODOOODUOOooOOoOooooOo

n+1
gg,on BDDDDDD/ %deDDDDD.DDDDDDDDDDDDDDD,DD (00oooOoo

DDDDDDDDD),DDDEDDDDDD (0O0O0UoOoOo0oUoOoOO0)0O,00,00000C000000
ogooo,0ono mooo HIDDDDDD.BDDDFDDDDDDDD log(n+1) DOOOOO.

Sn:(ADDD)>(BDDD):/n+ L de = log(n+1)
nO0000000000000O0bO0ODbO log(nJrll)DDDDDDDDDD.DDDDD {S,}00O0ooooQ
goooo,0oobbooooooboooon.

00000000 S, 000000000000 A0 2000000 10000 (A 000),000 y:%
ooooooooooog. A/02=000 10000000000,000 y:%,DD rz=1, xz=n, 0 2-00
00o00o0o0O (Bo0o)ooooooooo,

Sn:(A’DDD)<1+(B’DDD):H/n%dx:lognH
DDD,log(n+1)<Sn<logn+1DDDDDDDDDDDD1D.DDlogn<log(n+1)DDD,0<Sn710gn<1
0ooO0D.ooodo0,n—oo 00000 S,—-logn0000000D00OD0OODOODOODOO.

1.5 20000 b,=S,—log(n+1), c,=S,—logn O000D0O0. b, 0 AD BOOOOOO, ¢, 0 A0 B
ooo00ooo,0gooo0ooooooooo, {b,) 0000000000000 OO00O0O0OO, {¢,}0000
00000000000 000000. 0<bi<ba<++-<bp<---<cp<---<ce<c1=100. 000000 {b,} O,
0000 10000000, 00000000000oUOoooUoO. {00000 oooooo.

[D0] 0000000 (0000)0000000.

00 {¢,} 0000 000000000, ¢p—by=log(l++) 000, {b,} O {¢,} 0O0DODOD 100
000. n0000000000000, {b,}0 {¢}00000000000000000. 000 40
00, Euler 0000000, Ewle 0000000000000000000000000000, 0000
~v=0.57721566490153286--- 00000000 0.

1.6 00 {b,} 00000, {¢,} 000000, 000 Euler 00 v 0000, by<y<c, 0000D.
bp=S,—log(n+1), ¢;,=S,—logn 000, logn+y<S,<log(n+1)+y 0000000000 OO S,-1<10<5,
000 n000000. log(n—1)+y<Sn_1<10<S,<log(n+1)+y 000 e0-7—l<n<el®74+1 00000.



e1977=12366.96 0 0 0 n=12366 000 n=12367 0 0. S12366=9.999962, S12367=10.000043 0 00, S,>10 O

obob0 n0O 12367 00. 0000000 ODOODOODO.

€07 —  12366.96 Siszes = 9.999962  Siazer = 10.000043
el'=7 = 33616.90 Ssaere = 10.999988  S3ig; = 11.000017
€277 = 91380.22  Soizre = 11.999992  Sgizso = 12.000003
e3=7 = 248397.19  Sougzos = 12.999997  Shssser = 13.000001
=7 = §75213.58 Serso1z = 13.999999  Sgrsoia = 14.000001
e=7 = 1835420.80 Sigzsazo = 14.999999  Sigssazr = 15.000000
el6=7 = 4980191.02  Siosore0 = 15.999999  Sigse101 = 16.000000
elT=7 = 13562027.29  Sisse2026 = 16.999999  Si3562027 = 17.000000
187 = 36865412.36  Ssesesatr = 17.999999  Ssgsesatz = 18.000000

S,-1<100<8, 000 nO000000000. 97 —1<n<e!®741 0, e!9977=1.5092688 x 1043 () 0 OO,
n0 40000000.0000000000 €'%°77=15092688622113788323693563264538101449859497.364 [ [
0, n=15092688622113788323693563264538101449859497 0 0 0 n=15092688622113788323693563264538101449859498
00000.00000007?4000000000000000000000000000000000O0.

1.7 00000000 S,0000,logn+y<S,<log(n+1)+y0000000. r,=S,—(logn+y) 000
0,7 000,0000 (ry>rq),0000000. S,=logn+y+r, 0000,0000000000000
00000.0000 », 000000000, S,<log(n+1)+y 000, 0000 0<r,<log(l4+4)<: 000
0000. S, 0 logn+y 000 L 00DODODOOOD. 000 »,00000000000000000000,
0000000000000000000,00000000000000000.

§2 0OOOOOOO

2.1 gooo 1+%+%+~-~ goboobboobooooboob,booboooboobob. obboo

00000000000000000000000. 00000000000000000000000000
0000000. 0000000000000,00000000000,000000000000,0000
0000000000,0000000000.00000000000,000000000000000. 0
00000000000000000000000000000000. 200 (2"00)000000000
DDDDDDDj%DDDDDDD,DDDDDDDj:%EZQDDDDDD.DDDDDDDDDDDDD
000000000,0000000%70000000000000000.

22 00000,0000000 j+i+4+3+4+ - 000000000.000000000000,0
000000000000000.000000000000000000000C00000000,00000
000000000000. 0000000000000, Eudid00000000000,000000000
000000.00,0000000000,0000000000000,18000 EWee000000000.

[0O] (Buler) 0000000 $+i+i+d+4+ - DODOOOOOODOO.
00000000000,000000000000000000000000,00000000000000
00,000000000000000000000. 000,00000000000000000000,000
000000. 00000000 (0000000000000000000000)0,1.10000000000
DO000000,0000000000000000 (1-3)7'0-H)7'a-H'a-Hr1a-4pra-F— -
(Bulr 0000) 00000, Buler 0000,000,00000000 4,4, 4, 000000 (DOOC
000)00000000000. 00000000000000000000000, Euler00000000

gbooo.oboo,000b00b0o0o0oocoboooooaon.

2.3 gooo,0ooboooboooboobooooboooboboooobobobo,0oobobboooboobooo,
gboooooooboobooobobobo. obobobooooo,0oboobobobobobooooobooon.
go0Do0o0oDOoO0o00DOo000 EecdidO0DOOOOO0OOOOOODODOOODOOD.

[00] (Euler) 0O000O0O0OO0OOOOOOOOOOOOO,000000000000.

gboooooboo.obooboooobooboooobooboooobo,0b0ooboobo,ob0b0oboOoboooon
gooooboooooooboooD. Eler 00, 000000000DO00O0DOODOODOODOODOOODOO.
Dirichlet 0000000 (40000 1000000000000 ,30000 20000000000000



0)000o0o0Do000o000o00O00O0O00. D000 (DoD0oU0D0O0UDO0D0DOO0OOOUOOOoUoOOooDnD)
gboo,b000b0o0ooboooobooooboobooooooobooooboooooobooboobboo.obooooooaon
o0oo0o0oooO0o0o000boO0,Ewclid0000O0O0000000ODOO0O0000ODOODO000,Euler00nOOO
goboooooboooboobooboooobo,0boooobooboooo.

§3 0O0OO,00000

31 00000000000000000,000000000000000000000000000. O
00 Se=l+i+3+3+i+4=8-24500 J0 0000 1+1+}+l=200000. oOODODODOO
00000 3,4,5,6,--- 000000000000000000000000? 000000000007
0000000000000000000000000000.00000000000000000000
00,00000,0000000000000000000000000000000.0000000000
0000000000000000.

[00] OOOO0OU0OO0O00OO0,00000000 (DOODO)oOoOooooooo.

32 1+i+lil=2000,000600000000000000, 643+2+1=2x600000. 000
6000000,000 60 200000. 600000 (6000000)000000, 3+2+1=6000
00. 000000000000 000000000000000. 280 14+7444241=28 0000000
D. 28+14+7+4+2+1=2x28 0000 28 0000 1+3+3+3+4+%=200000. 000000000
0020 10000000000000. 000 »n00000000 s(n) 00000. s(1)=1, s(2)=1+2=3,
5(3)=1+3=4, s(4)=1424+4=700. n 00000000000000000 s(m=2e00. ¥ ooooo.
()0 »000000000,000 n0000,00000000 »000000000000O0. 000,
(") 5 ,ooooooooooooooooooooo. 0oo »00, $™opo. 2™ pnoooo

n
nDDDD,@<2DDDDDD nO000000000.00 po0O0d @zl—i—%DDD,DDDDDDD

g #D 1000000000000 IDDDDDDDDD.LT?)DDDDDDDDDDDDDDDDD.

w @

3.3 gd %DDDDDDDDDDDDDDDDDDDD. gobobooobooboboooboboobog.

g %DDDDDDDDD,[II:JDI:II:I[ID[II:JDDDDDDDDDDDDDDDDDDDDDDDDDDD
u.00o0»mO0000000O0D000O0 nOOOO %>#DDD mO0O0000000,0000000

o @DDDDDDDDDDDDDDDDDDDDDDDDDDDDD.DDDDDDD mO0O000000
goo.goobooooobooooooobb.gopbboooooono.

s(m)
mloglogm

[0 0] (Ramanujan, 1915) Riemann 0000000,0000 nO %geVDDDDD.
nloglogn

[O0] (Robin, 1984) 0000 nO0OO0O %geVDDDDDD Riemann OO O0O0O0OODO.
nloglogn

[00] (Gronwall, 1913) 0OO0O0O0 mOO0O00,m—oco 000 —e’0ogoo.

§4 0OO

000000000000 000000000000000000,00000000000000. 0000
000000000, 000000000000000000000,0000000000000000000
0000000.0000000,00000000000000000000000000. 00000000
0000000000000000000. §100000000000000000000,00000000
0000000000000, §200 Euer 000000, 0000,000000000000000000
00000000000000000. §300000000000000,0000000000000000
DO00,00000 (A=3+3+¢=3+1+i++L)0000000 (DDOODDOODOODOOOOO)O
000,00000000000,000000000000000000



